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Directions: Read the following passage carefully
and answer the questions given below the unseen
passage:-

Trees are an essential part of our natural
environment. Trees provide us with many benefits.
They produce oxygen through photosynthesis,
which is essential for our survival. They also
absorb carbon dioxide, which is a harmful gas and
contributes to climate change. Trees also provide
shade to us, which provides relief to all living beings
during the hot summer days.

Forests provide protection to a wide variety of

animals, birds, and insects, many of which depend

on trees for food and shelter. Trees also help prevent

soil erosion, which is important for maintaining

healthy ecosystems.

Unfortunately, many forests around the world are

being destroyed due to deforestation, trees being cut

for commercial purposes. Deforestation has many

adverse effects on the environment, including soil

erosion, loss of biodiversity, and climate change.

It is very important that we should take steps to

protect trees and forests. We can plant more trees

around us, support reforestation programs, and

reduce our consumption of products that contribute

to deforestation, such as palm oil. By doing so, we

can help ensure a healthy and sustainable future for

ourselves and future generations.

Q.16 What are the benefits of trees mentioned in the

passage?

(A) Producing oxygen and absorbing carbon dioxide

(B) Providing shade.

(C) Preventing soil erosion.

(D) All of the above.

Q.17. What is deforestation?

(A) Cutting down trees for commercial purposes.

(B) Planting more trees.

(C) Supporting reforestation programs.

(D) Reducing the consumption of palm oil.

Q.18 What are the adverse effects of deforestation on

the environment?
(A) Soil erosion.

(B) Loss of biodiversity.

+ (C) Climate change. (D) All of the above.
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Q.19 What can we do to protect trees and forests?
(A) Plant more trees.

(B) Support reforestation programs.

(C) Reduce consumption of products that contribute
to deforestation.

(D) All of the above.

Fill in the blanks...

Q.20 Our school break up 3pm.
(A) by (B) at (C) to (D) on
Q.21 All items were sold fixed price.

(A) at (B) by (C) for (D) on

Q.22 You have to choose coffee or tea.
(A) from (B) between (C) among (D) by
Q.23 Madhav said that he lived in a village
(A) Madhav said,"| live in a village".

(8) Madhav said me,"| live in a village".

(C) Madhav told to me,"l live in a village.

(D) Madhav told,he lived in a village.

Q.24 Manvi said," My school is nearby".

(A) Manvi said that his school is nearby.

(B) Manvi told that her school was nearby.
(C) Manvi said that her school was nearby.
(D) Manvi said,"that her school was nearby".

Q.25 Gopal had fed the dog. Change into passive voice.

(A) The dog is fed by Gopal.

(B) The dog has been fed by Gopal.
(C) The dog have been fed by Gopal.
(D) The dog had been fed by Gopal.

Q.26 We will by that teacher.
(A) taught (B) be taught (C) been teach (D) been
taught

Q.27Find the correct opposite of ‘worldly’.
(A) spiritual (B) eager (C) comman (D) mundane
Q.28 Select the antonym of 'young' .
(A) boundless (B) depart (C) boyish (D) old
Q.29 Write the antonym of ‘error.’
(A) mistake (B) fault (C) correctness (D) blunder
Q.30 Choose the correct opposite of ' abound'.
(A) start (B) teem (C) want (D) comply
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Q.81 faaiaw # 719a aren 49 Bl AT

(A) dieniiee (B) snflew (C) Fet & (D) feaaiites &
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(A) #ifeam (B) wifzaw (C) gefaam (D) Zbfean

Q.94 3rid IAEHNT FeA1q Ui a5 &

(A) Fetzw (B) U & A5 &1

(C) 5i7re &1 (D) IUEE | BIS T8!

Q.95 HeT 3T 423 H R Fh ! A1 Hba ATed! [gd URT §
(A) vt uRT

(8) REuwr

(C) weamadt 7 =fE uwr 2=t &t
k(o)mmﬁfazﬁﬂmzﬁfiﬁaﬁ

(i forvret o Harg et & e 7
% TATER Fa1gd faaTerd waer usten wam- 9 Higd 9w- 1]

Q.96 GegHifags $ ufaai &1 39T fEar srar &

(A) e gzt &t e 7 (B) zaréat r dfer

(C) a@weie B AfETH (D) Ius it

Q.97 Simfea e ard &

(A) Fawafd uié (B) 9L WieH (C) FMiecss (D) wife®
Qo8 fRm B ugu &

(A) d=7 sfagm

(B) a1 HA1H1 TF 5

(C) siafar sifiam

(D) Er@aor § Hafta wameg & disar

Q.99 HaH WAATE TG UGIF &

(A) w1t wggoT (8) F=fiam wgwor

(C) wrda HitsmawTEs (D) FE 378 3RS

Q.100 HE2 F IR FTFRE &

(A) e wgavT (B) AT WO (C) 31 gV (D) ¥Afa wgwor

TP
4




10
2C
3A
4D
5B
6C
7B
8B
90
10C
1B
128
13A
14 D
158
16 D
17 A
18D
190
20 A

fove fraor Al werg & wfaaifiar o

21C
22 B
23 A
24 C
258
26 8B
27 A
28 D
29 C
30C
318
32 L
33C
34 A
35C
36 A
37 A
38 B
39 A
40 8B

STeHIell
41C
42 D
43D
44 D
45D
46 A
47 C
48 C
49 A
50D
ol6
52.C
S3 A
54 A
SS A
56 B
57 B
58 B
59 A

60 A
S,

(
(ﬁ TaTEY Fa1gd faarerd vaer wHha ®am- 9 Higd 9w- 1)

61C
62 C
63 B
64 B
658
66 C
67 B
68 C
69D
70D
71D
2D
73D
74 C
75D
68
778
8B
79 A
80D

81 A
828
83D
84 D
85 A
86 B
87 A
88 B
89 A
90D
918
92 G
93D
94 A
95 B
96 D
97 8B
98 D
929 C
100 B




